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DS [ 1,643,402 77,000 1,566,402 | m< P& 7j 2t 1,643,402
7K A F ALY W S0P 7 | 1,643,402
eI 2,611,999 1,705,000 906,999 |xtst= 2,611,999
R&ADZISHZ 2,611,999
MM EH| 0 0 0
7|Etn g FH| 688,538 341,000 347,538 |7|Et 1S 2 YH| 688,538
HEX| A 688,538
7|EFR| @2 AFRIH] 597,062 489,100 107,962
7|EFX| RS ALLH| 597,062 489,100 107,962 7| EtX| A=At H| 597,062
e S ME 597,062
ZHEHALIH| 2,938,569 | 2,802,000 136,569
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2014 2014
| =2 = 7t M E
® 8 ol | mojuey | T g
QX AH]| 0 0 0
Ol AH| 0 0 0
RS E A 0 0
A LX| H| 2,157,067 2,177,000 (19,933)
JEExgAE | 1,704,000 1,627,000 77,000 | 7| 2HEEX| 21 AH| 1,704,000
20/HYERES 1,124,440
Elxg 83,000
S22 4| 116,608
O{H| S H| 14,463
nEZ | 10,274
22 EH| 50,156
2| AKX E 8,373
A F =TI 20,789
2| Q|H| 1,512
== 32,049
M2 2t=at 8,371
ZE LI H| 19,145
SEH| 7,396
Z=/dH| 1,556
7| et 2 EEH| 205,868
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2014 2014
ni = =
* S8 zzouey | =ouy | SF 4 g2
S B8R | 596,812 426,000 170,812
Ietestg s 0 0 0
e 596,812 426,000 170,812 | XA MAHE N - SEH| 596,812
TUWER 310,987
THEH 130,067
QR AR 155,758
7| EFX| QI H| 184,690 199,000 (14,310)
7| EFX| H| 184,690 199,000 (14,310) 7| EFX| H]| 184,690
S Ata/AT&SH| 122,395
tiS A=/l | 60,000
tSAts/@FEH| - =z 1,729
7|EtECHH| 8 566
QIHERA| | 213,799 398,761 (184,962)
BRI 213,799 398,761 (184,962)
ol AH| 86,023 96,600 (10,577)| Q1 74H] 86,023
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2014 2014
= saoue | mopuy | S F 4 F 2
FQESME/ETE 2 29 66,520
HYEES 8,313
E[X5 11,190
Ut 127,776 302,161 (174,385)| L BFR| ZH| 127,776
=2| 24| 27,676
OfH| S H 1,060
mE= S aal] 1,773
2D EH| 984
2 AUXtE 0
HEF=TIH| 5,141
3| 9o|H] 300
Nessz 2,826
Ma2tsat 19,328
=TI | 22,692
SHH| 21,855
F=4H| 400
S AH] 800
7|Etat2| 2 22,941
37,471 80,100 (42,629)
2 37,471 80,100 (42,629)
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2014 2014
® = soney | momey | S F HE=
HI|QR4HEN 0 0 0
7|Et2FelH| & 37,471 80,100 (42,629)|7|E} 2 H| & 37,471
StEE AH| G ARXEH 37,471
gusAMES 8,224,782 | 7,900,000 324,782
stms|ANES 8,224,782 | 7,900,000 324,782
stm3|A™MEZ| 8,224,782 7,900,000 324,782 |stm 3| A =2 8,224,782
Stug| AN Ea 8,224,782
oflalH| ] 20,000 (20,000)
of| 5| 0 20,000 (20,000)
Of|H | 0 20,000 (20,000)
I. XpAELXX| S
1,941,472 1,810,000 131,472
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2014 2014
= zzouey | =ouy | SF 4 g2
1,904,440 1,760,000 144,440
100,000 0 100,000
7|12 84 BB 0 0 0
B p— 0 0 0
EXZ ORI E 100,000 0 100,000 |=XZ Q| EXX = 100,000
EXFoAEARE 100,000
7|EHE AR E 0 0 0
1,518,618 1,300,000 218,618
EXFHE 0 0 0
a=3F= 0 0 0
TEEFS 0 0 0
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2014 2014
= = 7} Al = 2
B EEO A | EofAroy > = thE =
ZIA7|7FS| 1,499,849 1,200,000 299,849 |7|A17| % & 1,499,849
AT/ =7 TN AL 7| A 7| 7 # SH] 1,248,183
Abststel/7| A 7| 2% SH| 139,644
oAl 60,908
] 51,114
HIHIERS 18,769 100,000 (BL23D) |/ Z[HIEHS 18,769
Abstst et/ 7| H| Z % SH| 1,573
ATNES 7778
7 H| 9418
AE2ETHS 0 0 0
HAB AR F S 0 0 0
7Bt RS 0 0 0
275,216 460,000 (184,784)
KA LHHF S 166,312 280,000 (113,688)| K| X A HF S 166,312
2L 125,533
=K 40,779
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2014 2014

In = = 7} A = o
* S8 oM | Eojuey | 5 F ¢ &2 A

VR N 37,032 50,000 (12,968)
o) ot 37,032 50,000 (12,968)

Ay sZo| LA 37,032 50,000 (12,968) | E=Z0| ZEAH 37,032

Y ESAEH 37,032
H[InESERVITFIEN 0 0 0
7| 232l 8tzt 0 0 0
soy|2a0Zta 0 0 0

m. 7|%o|xt=
30,620,893 | 7,250,000 | 23,370,893

7|8 o|Xtm 30,620,893 7,250,000 | 23,370,893
7|Ho|Xt= 30,620,893 7,250,000 [ 23,370,893
7|Ho|Xt= 30,620,893 7,250,000 | 23,370,893 | 7|2 olXt2 30,620,893
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2014 2014
i = = 7t A= 2
* S8 oM | Eojuey | 5 F ¢ &2 A
Abstsi 30,559,967
st 60,926
X|E o4&t ZA|(I+IO+I) 113,933,354 | 98,864,000 ( 15,069,354
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